Tie Breaker	


You are vice-president of a soccer league that has just finished a very competitive season. Three teams are tied for the lead with records of 8 wins, 4 losses, and 1 tie. Here are the final standings:


team�
wins�
losses�
ties�
�
Otters�
8�
4�
1�
�
Rockers�
8�
4�
1�
�
Metros�
8�
4�
1�
�
Penguins�
6�
8�
0�
�
Neros�
6�
8�
0�
�
Quarks�
2�
10�
1�
�
It is rumored that the league president, who failed to establish a tie-breaking policy before the season began, will resign very soon. It is likely to fall upon you to


1.	Declare a league champion. The league sponsor, Elaine’s Hardware, is unwilling to provide more than one of the prestigious Golden Hammer trophy.


2.	Determine complete league standings, from first place to sixth place with no ties. These are crucial for establishing the teams’ order in next year’s draft.


3.	Establish a thorough, fair procedure for breaking ties that not only resolves the current crisis, but can also be applied in future seasons to resolve any conceivable tie.


Develop a solution to the above problems. You have the following resources at your disposal:


A complete listing of all game results for the year (which appears on the following page). You may wish to consider factors such as these: results of head-to-head competition between tied teams, number of goals scored, the difficulty of each team’s schedule, and so on.


The league president had made a single field reservation for next week. Thus, at your discretion, you may choose to order a single playoff game between two teams (but not a tournament involving several teams). Bear in mind that this game could end in a tie.


Write a report that describes your recommendations. Since it will be difficult to reach consensus in this matter, be sure to give a clear rationale for each step in your tie-breaking procedure. Your own future in the league’s administration could depend on this.


�
League Results


�
Metros�
Neros�
Otters�
Penguins�
Quarks�
Rockers�
�
Metros�
�
M 1, N 0


M 3, N 2


M 3, N 1�
M 2, O 2 tie


M 1, O 4


M 3, O 0�
M 1, P 2


M 0, P 1


M 6, P 0�
M 3, Q 2


M 4, Q 0


rain cancellation�
M 3, R 2


M 0, R 1�
�
Neros�
N 0, M 1


N 2, M 3


N 1, M 3�
�
N 5, O 6


N 4, O 3


N 2, O 3�
N 0, P 3


N 5, P 4�
N 8, Q 0


N 7, Q 2


N 3, Q 0�
N 1, R 2


N 2, R 0


N 6, R 7�
�
Otters�
O 2, M 2 tie


O 4, M 1


O 0, M 3�
O 6, N 5


O 3, N 4


O 3, N 2�
�
O 4, P 1


O 5, P 0


O 0, P 1�
O 6, Q 0


O 5, Q 2�
O 3, R 0


rain cancellation


O 2, R 5�
�
Penguins�
P 2, M 1


P 1, M 0


P 0, M 6�
P 3, N 0


P 4, N 5�
P 1, O 4


P 0, O 5


P 1, O 0�
�
P 1, Q 5


P 1, Q 0


P 1, Q 2�
P 1, R 0


P 2, R 3


P 0, R 2�
�
Quarks�
Q 2, M 3


Q 0, M 4


rain cancellation�
Q 0, N 8


Q 2, N 7


Q 0, N 3�
Q 0, O 6


Q 2, O 5�
Q 5, P 1


Q 0, P 1


Q 2, P 1�
�
Q 1, R 9


Q 4, R 4 tie


Q 2, R 7�
�
Rockers�
R 2, M 3


R 1, M 0�
R 2, N 1


R 0, N 2


R 7, N 6�
R 0, O 3


rain cancellation


R 5, O 2�
R 0, P 1


R 3, P 2


R 2, P 0�
R 9, Q 1


R 4, Q 4 tie


R 7, Q 2�
�
�
Each line in each block of the table represents the score of a single game, with the winning team shown in bold. Note that every game appears in two different places on the chart.


Every team was scheduled to play 14 games this season, but 2 matches were canceled due to rain: Metros vs. Quarks and Otters vs. Rockets.
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